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	 MASTER OF ARTS (ECONOMICS) 

Term-End Examination 
December, 2018 

MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours 	 Maxiinum Marks : 100 

Note : 	Attempt questions froin each section as instructed. 

SECTION - A 
Attempt any two questions from this section. 
(Answer in about 500 words each) : 2x20=40 

1. Explain briefly the determination of monopoly 
price. Explain, why the monopoly equilibrium 
for a public utility is unstable. In this context, 
explain average cost-pricing. 

2. Delineate the area of public choice theory. Discuss 
the relationship between public choice and social 
choice. 

3. What are the main problems in international 
policy coordination ? Using Fleming-Mendel two-
country model, explain the basic mechanisms of 
policy coordination and show how they 
streamline various forces to reach an acceptable 
policy option ? 

4. What do we mean by an optimal tax system ? 
Identify the problems we encounter in 'optimal 
conunodity taxation'. 
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SECTION - B 

Attempt any five questions from this section. 
(Answer in about 300 words eich) : 	5x12=60 

5. Discuss Lindhal pricing for efficient allocation of 
public good. 

6. What are the main differences between public and 
private debt ? What are the limits to raising public 
debt by a government ? 

7. What do you mean by market failure and 
government intervention ? 

8. Write about 'Vertical Federal Fiscal Imbalance'. 

9. Why are certain economic ventures not 
undertaken by the private sector ? 

10. Is there any scope for inter-governmental 
competition in the Tiebout model ? Explain. 

11. What is a merit good and what is the role of 
government in its provisioning ? 

12. Describe Prisoner's Dilemma and explain its 
applicability in the real world. 
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